CE595:








Due: 3/9/2009

Homework No. 6
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Given: Cantilevered beam with dimensions shown; rigidly fixed at x = 0; applied traction at x = 18. E = 27,000 ksi; ( = 0.25. Additional loading due to self-weight of steel = 0.003 k/in3. 
Required: Using CST plane stress elements, find the approximate deflection of the free end at y = 0.
You can refer the problem solution in the notes, but please account for the body forces due to self-weight, and re-do all the calculations using your own implementation in math software. 
